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is a type of Boolean proposition Basic Compound Complex Truth values
that consists of two or more propositions. Proposition Proposition Proposition
-~z 4 IPVE L P { ,
2. Which of the given is correct IPv4 | 256.20.15.0 af.2c¢.5f.4d 25:2:5:14 172.16.54.1
address?
L"Mdfb’éﬁﬁ;ﬁ’tﬁr_uf;bLbé.yﬂ,ubﬁ Ge iyl j/f,;(;u; JL’-G/‘/:’(‘::' Ll
3. S
Protecting data from malicious users is | Data privacy Data sharing Data Data
called: distribution processing
§BA8 b S Sl ) R S5
4. Qb
ﬁ?‘r S, . i
is a process of encoding data.”” |~ Confidertiality. | . Password Piracy Encryption
5 (LY e R 2 > s
r— tag. Pair‘edv_ Singular [, = Single Double
RIT M Ut HTML =
& There are of headings in HTML 4 6 1
document,
S W) L L f e [
7 How many Ws are necessary to 6 2 3 5
understand a problem?
bde Ly Ah i S| s g SESF | dus
8. | Which solution is NOT reached through Prepared Condid Strategized | Bestsolution
proper algorithm  planning o work solution solution solution
planning?
T e 1§18 . e : P ) s L2, ) .
JU"”!{ ygéiljy U&zb"»l/wlfuud:x rr«-// ("-//LS/L K-//J’}) {r—//‘j{r
9 ,uZ&[___é,.;..lr/
. A is the system for representation| Number system Binary Number Decimal Octal Number
of numeric data. system Number system system
10. “f'“;‘}t&‘g (156)10 (100001100), (100110000); | (10011111100); | (10011100}
The binary value of (156),, is:
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. SECTION-B (25
2. Write short answers to any Four parts. (4x2=8) _Zéz Faliz L'h.’byd,éf -2
i. Write the names of requirements for a Flowchart? _adrbir}b’é.dugﬁ i
ii.  Draw flowchart to calculate sum of two variables. ,g;lz.b;g:“é_éi./(}”;yfb’alﬁ?u i
fii. What is difference between verification and validation? ?%J)Vuf-d‘ify&wfc&ﬁgdy i
iv. How many types of memory are? Write names. -é(l:?d(()'ftfﬂd’du“' v
v. Convert (7);, into Binary system. | 5 -éd.gdrﬂ’]ét*f(?)lo v
vi. Define the Decimal system. i ,&ébgﬂ(j,»uﬁdll‘}‘l i
3. Write short answers to any Four parts. ' (4x2=8) -é; Folig ¥ L;lzhy¢.&f 3
i.  Write the name of logical operators. -Eip(bLJ/‘,/,;lJ?U i
ii. Boolean values are mentioned in which book? ?q_uﬁ‘-yﬁ"’u//sb’u;bﬁcﬁ/:f i
iii.  Draw truth table using ‘AND’ operator. 4,14}“) Pt SN Ll AND il
iv. Define file transport protocol. ‘édg/?ddﬁ,/,@»!mfu v
v.  Write the working of Router, _éc}(ﬂbﬁ’ud}’u v
vi. How to make network of networks? ?q,CJz:;(J;hbf‘l{ufuﬁ_«j Vi
4.  Write short answers to any Four parts. MM&XZ:B) _é‘é4 Felis # L,mugq}f -4
i. Whatis piracy? Give an example, R -ﬁ';dl‘:‘q,&nyuf/’g J
ii. Write an example of good password. \; ;‘ ;égd&-(jﬁl;ugélug i
iii.  Which tag is used to add picture in HTM‘thage also write dl.fpld;’[/uféiéﬁi_{ﬂ{ﬂﬁu:&%: Jii
its attribute? o .y /?(Attribuiéj;igis AEIS L b
iv.  Which are attributes of table tag? S‘&ZD?&;:(S}!LJ& v
v. Whatis meant by paired tags? ?q.:!/gféug(Paired) b Y
vi. Write names of any two Web Browsers. _é‘rbLJinzu,«;)))é;&f Vi
(LA 085 Ly ) froe
SECTION-C (Each question carries Eight 08 Marks)
5. Whatis problem analysis? Write four advantages of abbﬁj.-u:lﬂlegi.:«;(gﬁ?q..:f/ Ve ALy 5
flowchart and two disadvantages of flow chart (2+4+2) -ﬁ{ Yy
6. Define Topology, write a note on any two Network -2&]4;2)?;@%»661’/554/}56:‘? _6
Topologies also. (2+4+2)
7. Whatis cyber crime? Write a note on advance fee -’df].b:’/,...fgml 5I)Lf.'.;ujb,§l?4._(g’,ﬂf/?b ol
fraud and hacking. (2+3+3)
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SECTION-A (.o

ln Linary number system “17" is equal
to

Q.1 Questions/ .= 1y A B C D
[:‘nu(ff(,;..(lsn. e r‘(./)' » L );.JLS
-c'{.,(;'l‘w‘ — Ko7l ) ‘
LU Al the characters on- the “Keyboard” Unicode BC8 ASCH BCD
have some binary codes those codes are
o lcalled 1
e e fl/\_}.u A ilgmbictl BTN, J{;w,,dé,,faif Jf;w/,d,b ﬂ;w/,}sg/
2 s
is used to assemble more than Boolear Categorical Moral Compound
one propositions into one proposition. Proposi_tion Proposition proposition Proposition
,l' b (( o4 . " Y
] \..._gl/.,u r{/(j;ﬁ)u Lu PR RS f,/ j/?b“’ 1\_,{-/” \—f/.:/ﬂs-i[( '-f/? o£Lf
3. - L"L-{;'.f L,-ItE‘L')J/" ) )
: The . is considered as the most well | File sharing Internet Hardware Application
! known example of network of networks. sharing sharing
! e B0 Fad s Gk o tuf - i ; . <
| el LS o e (O T n 02 il Do & L LS L
el G o e [g(_:’ff 4o 2 _
1A ter expert who can steal data - -
computer expert wno can stea: da Hacker Encryption Decryption Patent
when it moves from one location to other
iscalled
i 3 e 7 ‘ " B J: 2, Yo/, P
5 'V iUt T e A s
Which o_f_the given is a cybercrime? Encryption Hacking Decryption Debugging
4;&{/ (e Ll it .
6.1 The _______elementis a container for < body > <head > < title > < html >
meta data.
s bl _.[_LJ'/CJ/«'".:;U? gl B
ToTRE S - tag marks starting of a *pEe <pg> “p* <pn=
{ paragraph. j
T , Y . .
; ).(_jt’LC(:._,)J"':J‘Uwf;!&‘.'h?fr;_s_'/w)bj u/ G/s /ﬁn( U{inj .._’.ulqu(’
B 1 _______ means to test If the required | ’Vcrlftcation Mgorithm | Validation | Flowchart
i" B f solutmn isthere. 5 § ‘
i e \nr L (.c.,:-('(“ ;Jbb! = -wu.J"’uhﬂgs“ uL:g'Jn ?ﬁf lJtIU ,u,:"
| 9. Which symbol in the flowehart is used to , .
1 . Terminal Cannector Pracess Dectsion
1 either startor end the flowehat? 4 o
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Note: Section B8 is compulsory. Atempt any two questions from section C.
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SECTION-B /u.»

*2.  Write short answers to any Four parts. (4x2=8) ,éf_-fgfauz,ﬁé.,m;(g‘:.df 2
i. Write down an algorithm for a simple problem of ,g;uf‘,ﬁkz,,bvﬂéﬂ;'&ﬁ%éugu 4
wearing shoes with socks. ' . '
it. Write down any two properties of a flowchart. _zf_fugh;,(:a;ﬁ,,g(}fé&,g,-ﬁ i
ii. Write down any one difference belween algorithm énd flowchart. -éugu’),@fw@g,ﬁ»iﬁ’,ﬁ: i
iv. Convert (010111), into decimal number syster. V_édl;_;u'irlﬁdﬂi“lf(OlOlll)z v
v. Write down any two names of storage devices. ' ,&’id,'l;f_;/.;li;’éu:’»a;df RY;
vi. Define hexadecimélnU"mbersystem. : ,éJ/TJ(‘"//J‘:"";(,Q Vi
3. Write short answers{%‘;any Four parts. (4x2=8) ' _é{/w}lﬁﬁ?édii/y;&f .3
. Draw the truth table fdr "OR"loperator. -ﬁi—[’:(j"f?}/}}f_l—é/:/,ﬂ “OR" i
ii. Define Boolean expres;é.ioh“.-:-“-"------ ,éh:g'/"(ju?g,:!uf:! i
i, What do you mean by compound proposition? (.‘;,)l/Lfc’_,Lf'i]#/”;:j.l/ Al
b, What do you know about internet? '?u;""c'.,—‘L’LJ’L.;--‘Jui.:_,,;LLM}«'! Jiv
v.  Write two examples of IPv4 addressing standard. ,é_-if{,iuf&-;.ao‘&f’di,.t?ﬁ,,;: IPvd v
vi. What is communication channel? nug&f‘_._fd;‘zu{’/",:f Vi
4 Write short answers (o any Four parts. (4x2=8) -é,;}@uf./*}é,lzr,g;;&f 4
i What is soft litting? ' | ce AL
i, Whatis cybercrime? Cte VA AL
i, Write a code to insert hyperlink on web page. _c’ﬁa)’fgi—@;g/ﬂx,(‘;f%; i
iv. Define paired lag. .4:‘3(:...227(55.(' (Paired) $ 2 .iv
v. Why web browser is Qsed? ] ?4,L~t,,gdu7”nu;!,;su;‘.g v
vi_ What is difference between tag and element in HTML? ?éd)yut..»,x&ww?wmm Vi
(A 08 0Ly p) frs,
SECTION-C (Each question carries Eight 08 Marks)
5. What is meant by test data? Explain importance (&) ,&‘J:/(‘ju_f_',w(jdﬁ:h__,ﬁg(jvfbfcé__),f(:(QL::L_._‘/‘:: 5
af testing with example? _

6. Whatis TCP/IP Protocol suit? Write note about -d'gdd«}"/,.d,3/,:5),{.);;:.L’Bf/(.’df-f/i.‘/:’dﬁu_,'rcp/lp 6
any two protocols. e ) J

7 Define software piracy, also explain any -r’_'{‘d&,a;d:‘p([}!ufd&qur/':‘zif;_y,;(ju{/’g/z-sdb B d
three types of software piracy. (2¢6) '
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